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&el: tsnsSAld 2 2SR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAZ 2 89,613,023 64,101,025 25,511,998
= 22,619,000
[ 5,694,000
= 13,517,800
Al 47,782,223
Hsus SEX& 89,585,946 64,072,329 25,513,617
= 22,619,000
[ 5,694,000
= 13,517,800
Al 47,755,146
HsLSAE & 28X 89,585,946 64,072,329 25,513,617
= 22,619,000
= 5,694,000
= 13,517,800
Al 47,755,146
ALHRHA S ~BES 80,000 80,000 0
207 ARl 80,000 80,000
01 ARSI 80,000 80,000
OAlUHA BFAE +~EES 80,000
AUBA =Xte Of - HIXF HEXZ 200,000 200,000
307 elztol & 200,000 200,000
09 2+LAE2LES 200,000 200,000
OAILIHA ==Xt O - HIX MEXSA 200,000
AUHA Regts &2 9,000,000 10,000,000 1,000,000
307 el2tol & 9,000,000 10,000,000 1,000,000
B 2=gHEXS 9,000,000 10,000,000 1,000,000
OAlUHA R8s Ea8d 9,000,000
= - 2t AU A 2Hds HEXE 1,000,000 1,000,000 0
307 @120l & 1,000,000 1,000,000
09 2FSHEXS 1,000,000 1,000,000
(OFSES ANUHHA 2 HLs THEXIA 1,000,000
AU A S320II0l 25 109,536 109,536 0
201 2egh=3| 109,536 109,536
2 35244l 109,536 109,536
OAILIHA SSA0ITH0l 5 109,536
ABISl HARRE 2 18,000 20,000 22,000
201 er2 3| 18,000 20,000 22,000
01 AtR2telHl 18,000 20,000 /2,000
OAIRIo] HARIEE 2 18,000
SS=oHIIH A 365AH 45,500 23,000 22,500
201 fet=3| 13,500 15,000 1,500
01 AtR2t2|HI 13,500 15,000 21,500
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HAZ 20
HsuE SEX
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oSl HIEREAL 2 22X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAI2IZLIEHE 2 5,300
OTEIIAL HE & HE 3,700
OAILIH A JIEDIAS] & 4,500
301 22N = 32,000 8,000 24,000
4 JIE2 8= 32,000 8,000 24,000
ORLIHRE AdIE4 32,000
WS ML 29 1,000,000 735,000 265,000
= 200,000
Al 800,000
307 elztol & 1,000,000 735,000 265,000
= 200,000
Al 800,000
QB 2=gHEXS 1,000,000 735,000 265,000
OWSAX MaHA 2 1,000,000
=S 200,000
Al 800,000
HASSAIY HEXIR 34,535,940 31,620,000 2,915,940
< 3,072,000
Al 31,463,940
307 glztol & 34,535,940 31,620,000 2,915,940
= 3,072,000
Al 31,463,940
09 2+ AHAELS 34,535,940 31,620,000 2,915,940
OHAZSAIE MEXE 6,144,000
= 3,072,000
Al 3,072,000
OAlUHA HIted 2 ZFEHE X 28,391,940
FAAUHA EJEE 26,400,000 10,800,000 15,600,000
= 18,480,000
s 7,920,000
402 QI”F X201 & 26,400,000 10,800,000 15,600,000
= 18,480,000
[ 7,920,000
02 QI X2 AL E R (01X THE) 26,400,000 10,800,000 15,600,000
OF=LAUHA ERJEX 26,400,000
= 18,480,000
S 7,920,000
MattHA E2X% 6,072,000 2,760,000 3,312,000
= 4,048,000
S 2,024,000
402 QI+ X201 & 6,072,000 2,760,000 3,312,000
= 4,048,000
== 2,024,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI TH2AILEE (01X THE) 6,072,000 2,760,000 3,312,000
O MAHA ZEX 6,072,000
= 4,048,000
s 2,024,000
LS WSIE OtLelXl K& 68,000 40,000 28,000
= 34,000
Al 34,000
308 AtXIEHMSOIE 68,000 40,000 28,000
= 34,000
Al 34,000
13 SI[2SOHE & EAS A 68,000 40,000 28,000
OLEWSIHE OtLelXl XA 68,000
= 34,000
Al 34,000
sustl a2 X2 114,000 0 114,000
= 57,000
Al 57,000
308 AHXIEMSOIE 114,000 0 114,000
= 57,000
Al 57,000
18 SIS B HASAIE 114,000 0 114,000
ollsusHl =g X& 114,000
= 57,000
Al 57,000
nSHSEI HoRAAS 2 4,320 4,800 A480
201 er23| 4,320 4,800 A480
01 At2tltl 4,320 4,800 480
OuUSISEI &ofRe &Y 4,320
AUHA s28 X1 & RA2el 440,000 440,000 0
401 Al HIY S CHYI 440,000 440,000
01 A28l 440,000 440,000
OAlLIHA s2& Alde FAl2d 260,000
OAlLIH A s23F Ald & H2AE £X 180,000
EE XK X s2E RA2e 312,400 312,400
201 2egh=3| 252,400 252,400
01 AtR2t2ltl 2,400 2,400
O AT XA - sHE FAl2c 2,400
2 s5=34l 250,000 250,000 0
O HE 2K - STE FAl2c 250,000
401 Al HIZ S OHYI 60,000 60,000
01 A28l 60,000 60,000
OHE 3IXHK - sH&E FAl2el 60,000
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HsuE SEX

Sl (IEDSAM 2 29X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HASZE W HHHE EX(T O 7,000 15,000 /8,000

= 7,000
401 Al HIZ R 0HbI 7,000 15,000 /8,000
< 7,000
01 Al&H| 7,000 15,000 /8,000
odlAs2d W HHHE £X 7,000
= 7,000
Sel Xl AILIHA S &0HE 245t =& 180,000 200,000 220,000
201 Ler2&| 180,000 200,000 220,000
01 At2teltl 180,000 200,000 220,000
OAUHA =HIHE 28 160,000
OAILIHA WSote € HAOIE &L 20,000
Jlgithz 2 S EHHAXIA(BRT) 5 4,500,000 1,500,000 3,000,000
[ 4,400,000
Al 100,000
201 2egh=3| 100,000 100,000
01 At2t2ltl 100,000 100,000
OA2IBE3 FA 100,000
401 AIZHIZL R0 4,400,000 1,500,000 2,900,000
= 4,400,000
01 Al&H| 4,400,000 1,500,000 2,900,000
OJeltZ AHSHAAA(RT) 7= 4,400,000
= 4,400,000
IBNISSEeASE (52 U Sad28ARt £ 177,800 177,118 682
X)) (HEAL)
< 27,800
Al 150,000
401 AlEHIZL SO 177,800 177,118 682
= 27,800
Al 150,000
01 Al&H| 177,800 177,118 682
Osdd W ad2E2Xt X 177,800
= 27,800
Al 150,000
338 BA (=2 HA) 4,234,750 3,184,000 1,050,750
[ 1,100,000
= 220,000
Al 2,914,750
309 HES 3,714,750 3,184,000 530,750
[ 1,100,000
= 220,000
Al 2,394,750
01 SAt- SHEYNES 3,714,750 3,184,000 530,750
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HsuE SEX

oSl HIEREAL 2 22X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O33E HA(H=2 bi2) 3,714,750
= 1,100,000
== 220,000
Al 2,394,750
404 SAEEH = ES 520,000 520,000
01 SAt SHAZ2HES 520,000 520,000
O33E HA(H=Z bi2) 520,000
HASZE EHYE LE0XE £X 6,700 6,675 25
S 2,000
Al 4,700
401 Al HIZ S OHYI 6,700 6,675 25
== 2,000
Al 4,700
01 Al&HI 6,700 6.675 25
OHASZE EfeE LE0XE &X 6,700
< 2,000
Al 4,700
NaHA s28 AEHd 150,000 135,000 15,000
= 45,000
Al 105,000
401 AIZHIX S0HH 150,000 135,000 15,000
= 45,000
Al 105,000
01 AlZ2H| 150,000 135,000 15,000
OMaHA s2& Aldiid 180,000
== 45,000
Al 105,000
OIZAIEI AILHHA 3IXER ZE ALY 280,000 0 280,000
= 84,000
Al 196,000
401 AIZHIZL R0 280,000 0 280,000
= 84,000
Al 196,000
01 A28l 280,000 0 280,000
OO0 ZAIEl Al A 2 XEA ZE AL 280,000
[ 84,000
Al 196,000
HASE 22| AIAE(BUS) X2t 48,000 48,000 0
201 2= 48,000 48,000
2 S5=2g4l 48,000 48,000
OHAREHIIC|AIAE(BUS) FAI2tel 48,000
AMUHA BEEE B2 100,000 100,000 0
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